100 km

1.00 4 1.00 4 1.00 4

D 04 : - e
0.75 1

' . 1 1

SPA vs NPA
o
&

o fape olee

0.001 0.00 0.001 *
To.lal Tumluver Nesle'dness To.tal Turn‘aver Nesmldness To'tal Tu rn‘over Nes(eldness
1.00 4 1.00 1 1.00 4
L
°
° °
)
0.751 0.754 ® 0.75
z —
o
[ L ¥
> 0.50 1 0.50 1 0.50 1
E °
2]
0.254 0.254 0.254
0.00 0.004 l 0.001 e
Total Turnover Nestedness Total Turnover Nestedness Total Turnover Nestedness
1.00 1 1.00 4 1.00 4

0.75 1 0.754 0.75 1

L]
. 050+ o, 0.50 P
%
°
0.251 0251 0.251
0.001 i 000+ 0.004

RA vs NPA
o
8

4. Po ¢

Total Turnover Nestedness Total Turnover Nestedness Total Turnover Nestedness



10 km

1.00 4 1.004 1.00 1

0.75 1 * 0.75+ 0.75 1

SPA vs NPA
o
¢
e
e

0.504 0.50 1
°
0.251 ° 0.254 E 0.25
0.001 0.004 0.00 1 E
To‘ta] Turn'over Nesle'dness To'lal Turn'uver Nes(s'dness To'tal Turn'over Neste'dness
1.00 1 1.001 1.00 1
0.75 1 0.75 4 0.75 1 °
°

2 050+ 0.50+ 0501
£ —_—
2]

-
0.25 1 ° 0.25 4 0.254

0.004 0.004 0.00 1
Total Turnover Nestedness Total Turnover Nestedness Total Turnover Nestedness
1.001 1.001 1.001
0.754 0.754 0.754 o
] |
< ©
g ¢ ° H 3
L) &
£ 0.501 L 2 0.50 4 0.50
< LY o
« ° ® } i
° Qe q
° ° L
0251 0251 I 3 0.254 2 °
°
E——
0.001 0.001 0.004

Total Turnover Nestedness Total Turnover Nestedness Total Turnover Nestedness



